KYUNGPOOK Math. J. 45(2005), 511-518

Eventually Regular Regressive Generalized Transformation Semigroups

AMORN WASANAWICHIT, TEERAPHONG PHONGPATTANACHAROEN AND YUPAPORN KEMPRASIT Department of Mathematics, Faculty of Science, Chulalongkorn University, Bangkok 10330, Thailand e-mail: Yupaporn.K@Chula.ac.th

ABSTRACT. Necessary and sufficient conditions have been provided for some standard regressive transformation semigroups on a poset to be eventually regular. Our main purpose is to generalize this result by characterizing when their generalized semigroups are eventually regular.

1. Introduction

For a semigroup S, let E(S) and RegS denote respectively the set of all idempotents and the set of all regular elements of S. That is,

 $E(S) = \{ x \in S \mid x^2 = x \} \text{ and}$ $RegS = \{ x \in S \mid x = xyx \text{ for some } y \in S \}.$

Then $E(S) \subseteq RegS$. An element $a \in S$ is said to be *eventually regular* if $a^n \in RegS$ for some positive integer n, and we call S an *eventually regular semigroup* if every element of S is eventually regular. Note that every regular semigroup and every finite semigroup is eventually regular.

For a set X, let P(X), T(X) and I(X) be respectively the partial transformation semigroup on X, the full transformation semigroup on X and the 1-1 partial transformation semigroup on X (the symmetric inverse semigroup on X). It is known that all P(X), T(X) and I(X) are regular. We denote the domain and the image of $\alpha \in P(X)$ by dom α and im α , respectively. For $\alpha \in P(X)$, α is said to be *almost identical* if $S(\alpha)$ is finite where $S(\alpha) = \{x \in \text{dom } \alpha \mid x\alpha \neq x\}$. Let

AP(X)	=	$\{ \alpha \in P(X) \mid \alpha \text{ is almost identical } \},\$
AT(X)	=	$\{ \ \alpha \in T(X) \mid \alpha \text{ is almost identical } \},\$
AI(X)	=	{ $\alpha \in I(X) \mid \alpha \text{ is almost identical }}.$

Received September 16, 2003.

²⁰⁰⁰ Mathematics Subject Classification: 20M20, 20M17.

Key words and phrases: eventually regular semigroups, regressive generalized transformation semigroups.

It is known that AP(X), AT(X) and AI(X) are regular subsemigroups of P(X), T(X) and I(X), respectively.

Next, let X be a poset. A point $x \in X$ is said to be *isolated* if for $y \in X$, $y \leq x$ or $x \leq y$ implies x = y, and we call X *isolated* if every point $x \in X$ is an isolated point of X. An element $\alpha \in P(X)$ is said to be *regressive* if $x\alpha \leq x$ for all $x \in \text{dom } \alpha$. Let

$$P_{RE}(X) = \{ \alpha \in P(X) \mid \alpha \text{ is regressive } \},\$$

$$AP_{RE}(X) = \{ \alpha \in AP(X) \mid \alpha \text{ is regressive } \}.$$

and $T_{RE}(X)$, $AT_{RE}(X)$, $I_{RE}(X)$ and $AI_{RE}(X)$ are defined similarly. Then $AP_{RE}(X) \subseteq P_{RE}(X) \subseteq P(X)$ and $P_{RE}(X)$ and $AP_{RE}(X)$ are subsemigroups of P(X) and AP(X), respectively. We obtain similar results for $T_{RE}(X)$, $AT_{RE}(X)$, $I_{RE}(X)$ and $AI_{RE}(X)$. By a regressive transformation semigroup on X and a regressive almost identical transformation semigroup on X we mean a subsemigroup of $P_{RE}(X)$ and a subsemigroup of $AP_{RE}(X)$, respectively.

Some known results of regressive transformation semigroups and regressive almost identical transformation semigroups are as follows: A. Umar [3] has shown that if X is a finite chain, then the subsemigroup $S = \{ \alpha \in T_{RE}(X) \mid |\operatorname{im} \alpha| < |X| \}$ of $T_{RE}(X)$ is generated by E(S) and S is not regular if $|X| \ge 3$. A. Umar [4] proved that if X and Y are chains, then $T_{RE}(X) \cong T_{RE}(Y)$ if and only if X and Y are order-isomorphic. To generalize this result, T. Saitô, K. Aoki and K. Kajitori [2] have given a necessary and sufficient condition for any posets X and Y so that $T_{RE}(X) \cong T_{RE}(Y)$. Y. Kemprasit [1] characterized when $P_{RE}(X), T_{RE}(X), I_{RE}(X), AP_{RE}(X), AT_{RE}(X)$ and $AI_{RE}(X)$ are regular and eventually regular where X is any poset.

Our main purpose is to generalize the result in [1] mentioned above by considering the semigroup $(S(X), \theta)$ where X is a poset, S(X) is a subsemigroup of $P_{RE}(X), \theta \in S(X)$ and the operation is * defined by $\alpha * \beta = \alpha \theta \beta$ for all $\alpha, \beta \in S(X)$. We call the semigroup $(S(X), \theta)$ a regressive generalized transformation semigroup on X, and it is called a regressive almost identical generalized transformation semigroup on X if $S(X) \subseteq AP_{RE}(X)$. To distinguish α^n in the semigroup S(X) and the product $\alpha * \alpha \cdots * \alpha$ (n times) in the semigroup $(S(X), *) = (S(X), \theta)$ where $\alpha \in S(X)$ and n is a positive integer, we shall use $(\alpha, \theta)^n$ to denote the later product. For examples, $(\alpha, \theta)^2$ and $(\alpha, \theta)^4$ denote $\alpha \theta \alpha$ and $\alpha \theta \alpha \theta \alpha \theta \alpha$, respectively.

In the remainder, let X be any poset and \mathbb{N} the set of natural numbers (positive integers).

2. Regular regressive generalized transformation semigroups

It is known from [1] that RegS(X) = E(S(X)) for every regressive transformation semigroup S(X) on X. The first proposition shows that this is also true for all regressive generalized transformation semigroups on X.

Proposition 2.1. If S(X) is a regressive transformation semigroup on X, then

 $Reg(S(X), \theta) = E(S(X), \theta)$ for every $\theta \in S(X)$.

Proof. Let $\alpha \in Reg(S(X), \theta)$. Then $\alpha = \alpha \theta \beta \theta \alpha$ for some $\beta \in S(X)$ and thus for $x \in \text{dom } \alpha, x\alpha = x\alpha \theta \beta \theta \alpha = (x\alpha \theta \beta)\theta \alpha \leq x\alpha \theta \beta = (x\alpha)\theta \beta \leq x\alpha$ which implies that $x\alpha = x\alpha \theta \beta$ for every $x \in \text{dom } \alpha$. Hence $x\alpha = (x\alpha \theta \beta)\theta \alpha = x\alpha \theta \alpha = x(\alpha, \theta)^2$ for all $x \in \text{dom } \alpha$. But dom $\alpha \theta \alpha \subseteq \text{dom } \alpha$, so $\alpha = (\alpha, \theta)^2 \in E(S(X), \theta)$.

The following two lemmas from [1] are useful to characterize regular regressive generalized transformation semigroups in the next two theorems.

Lemma 2.2 ([1]). Let S(X) be $P_{RE}(X)$, $I_{RE}(X)$, $AP_{RE}(X)$ or $AI_{RE}(X)$. Then S(X) is regular if and only if X is isolated.

Lemma 2.3 ([1]). Let S(X) be $T_{RE}(X)$ or $AT_{RE}(X)$. Then S(X) is regular if and only if $|C| \leq 2$ for every chain C of X.

Theorem 2.4. Let S(X) be $P_{RE}(X)$, $I_{RE}(X)$, $AP_{RE}(X)$ or $AI_{RE}(X)$ and $\theta \in S(X)$. Then $(S(X), \theta)$ is regular if and only if $\theta = 1_X$ and X is isolated.

Proof. Assume that $(S(X), \theta)$ is regular. But $Reg(S(X), \theta) = E(S(X), \theta)$ by Proposition 2.1, so $(S(X), \theta) = E(S(X), \theta)$. Since $1_X \in S(X), 1_X = 1_X \theta 1_X$, so $\theta = 1_X$. Then $(S(X), \theta) = S(X)$. It thus follows from Lemma 2.2 that X is isolated.

The converse follows directly from Lemma 2.2.

Theorem 2.5. Let S(X) be $T_{RE}(X)$ or $AT_{RE}(X)$ and $\theta \in S(X)$. Then $(S(X), \theta)$ is regular if and only if $\theta = 1_X$ and $|C| \leq 2$ for every chain C of X.

Proof. Using Proposition 2.1 and Lemma 2.3, the proof of the theorem can be given similarly to that of Theorem 2.4. $\hfill \Box$

3. Main results

To obtain the first main result, the following two lemmas are required.

Lemma 3.1. Let $\theta \in P_{RE}(X)$. If there exists a positive integer n such that every chain of X of the form

$$x_1 \ge x_1 \theta \ge x_2 \ge x_2 \theta \ge \dots \ge x_m \ge x_m \theta$$

with $x_i \in \text{dom } \theta$ has length at most n, then for every $\alpha \in P_{RE}(X)$, $(\alpha, \theta)^{n+2} \in E(P_{RE}(X), \theta)$.

Proof. Let $\alpha \in P_{RE}(X)$ and $x \in \text{dom}(\alpha \theta)^{n+1}$. By assumption, the chain

 $x\alpha \ge x\alpha\theta \ge x\alpha\theta\alpha \ge \dots \ge x(\alpha\theta)^n\alpha \ge x(\alpha\theta)^{n+1}$

has length at most n, so its subchain

$$x\alpha\theta \ge x(\alpha\theta)^2 \ge \dots \ge x(\alpha\theta)^{n+1}$$

has length at most *n*. This implies that $x(\alpha\theta)^i = x(\alpha\theta)^{i+1}$ for some $i \in \{1, 2, \cdots, n\}$. But $x \in \operatorname{dom}(\alpha\theta)^{n+1}$, so $x(\alpha\theta)^i \in \operatorname{dom}(\alpha\theta)^{n+1-i}$. We then deduce that $x(\alpha\theta)^{n+1} = x(\alpha\theta)^i(\alpha\theta)^{n+1-i} = x(\alpha\theta)^{i+1}(\alpha\theta)^{n+1-i} = x(\alpha\theta)^{n+2}$. Since x is arbitrary in $\operatorname{dom}(\alpha\theta)^{n+1}$ and $\operatorname{dom}(\alpha\theta)^{n+2} \subseteq \operatorname{dom}(\alpha\theta)^{n+1}$, it follows that $(\alpha\theta)^{n+1} = (\alpha\theta)^{n+2}$. Thus $(\alpha, \theta)^{n+2} = (\alpha\theta)^{n+1}\alpha = (\alpha\theta)^{n+2}\alpha = (\alpha, \theta)^{n+3}$. Consequently, $(\alpha, \theta)^{n+2} \in E(P_{RE}(X), \theta)$.

The following corollary is a direct consequence of Lemma 3.1.

Corollary 3.2. Let $(S(X), \theta)$ be a regressive generalized transformation semigroup on X. If there exists a positive integer n such that every chain of X of the form

$$x_1 \ge x_1 \theta \ge x_2 \ge x_2 \theta \ge \dots \ge x_m \ge x_m \theta$$

with $x_i \in \text{dom } \theta$ has length at most n, then $(S(X), \theta)$ is eventually regular. In particular, if $\text{im } \theta$ is finite, then $(S(X), \theta)$ is eventually regular.

Lemma 3.3. Let S(X) be $P_{RE}(X)$, $T_{RE}(X)$ or $I_{RE}(X)$ and $\theta \in S(X)$. If X contains a sequence of pairwise disjoint finite chains C_1, C_2, C_3, \cdots such that each C_i is of the form

$$x_1 \ge x_1\theta > x_2 \ge x_2\theta > \dots > x_{k_i} \ge x_{k_i}\theta,$$

with $x_i \in dom \ \theta$ and $k_1 < k_2 < k_3 < \cdots$, then $(S(X), \theta)$ is not eventually regular. Proof. For each $i \in \mathbb{N}$, let

$$C_i = \{ x_{i1}, x_{i1}\theta, x_{i2}, x_{i2}\theta, \cdots, x_{ik_i}, x_{ik_i}\theta \}$$

where $x_{i1} \ge x_{i1}\theta > x_{i2} \ge x_{i2}\theta > \cdots > x_{ik_i} \ge x_{ik_i}\theta$.

We assume that $k_1 \geq 2$, otherwise we consider the sequence C_2, C_3, C_4, \cdots instead. To show that $(S(X), \theta)$ is not eventually regular, define α from the set $\bigcup_{i=1}^{\infty} \{x_{i1}\theta, x_{i2}\theta, \cdots, x_{i,k_i-1}\theta\}$ onto the set $\bigcup_{i=1}^{\infty} \{x_{i2}, x_{i3}, \cdots, x_{i,k_i}\}$ by

$$(x_{ij}\theta)\alpha = x_{i,j+1}$$
 for $i \in \mathbb{N}$ and $j \in \{1, 2, \cdots, k_i - 1\}$.

The map α is well-defined because C_1, C_2, C_3, \cdots are pairwise disjoint. Then $\alpha \in I_{RE}(X)$. Let $n \in \mathbb{N}$. Since the sequence k_1, k_2, k_3, \cdots of positive integers is strictly increasing, $k_m > 2n$ for some $m \in \mathbb{N}$. We then deduce that

$$(x_{m1}\theta)(\alpha,\theta)^n = (x_{m1}\theta)(\alpha\theta)^{n-1}\alpha = x_{m,n+1}$$

> $x_{m,2n+1} = (x_{m1}\theta)(\alpha,\theta)^{2n}$.

This proves that $(\alpha, \theta)^n \neq (\alpha, \theta)^{2n}$ for every $n \in \mathbb{N}$. Thus $(\alpha, \theta)^n \notin E(P_{RE}(X), \theta)$ for every $n \in \mathbb{N}$. By Proposition 2.1, α is not eventually regular in $(S(X), \theta)$ if S(X) is $P_{RE}(X)$ or $I_{RE}(X)$.

Next, assume that $S(X) = T_{RE}(X)$. Then $\theta \in T_{RE}(X) \subseteq P_{RE}(X)$. Let $\beta: X \to X$

X be defined by $x\beta = x\alpha$ if $x \in \text{dom } \alpha$ and $x\beta = x$ if $x \in X \setminus \text{dom } \alpha$. Then $\beta \in T_{RE}(X)$. If $n \in \mathbb{N}$, from the above proof, there exists an element $y \in \text{dom } \alpha$ such that $y(\alpha, \theta)^n > y(\alpha, \theta)^{2n}$, that is, $y(\alpha\theta)^{n-1}\alpha > y(\alpha\theta)^{2n-1}\alpha$. Consequently, $y(\beta\theta)^{n-1}\beta = y(\alpha\theta)^{n-1}\alpha > y(\alpha\theta)^{2n-1}\alpha = y(\beta\theta)^{2n-1}\beta$ which implies that $(\beta, \theta)^n \neq (\beta, \theta)^{2n}$. We therefore have from Proposition 2.1 that β is not eventually regular in $(T_{RE}(X), \theta)$. \Box

Lemma 3.3 gives a remarkable result as follows :

Corollary 3.4. Let S(X) be $P_{RE}(X)$, $T_{RE}(X)$ or $I_{RE}(X)$. If X does not have a minimal element, then $(S(X), \theta)$ is not eventually regular for every $\theta \in S(X)$ with $dom\theta = X$.

Proof. Let $x_1 \in X$. Thus $x_1 \ge x_1\theta$. By assumption, $x_1\theta$ is not a minimal element, so $x_1\theta > x_2$ for some $x_2 \in X$. Then $x_1 \ge x_1\theta > x_2 \ge x_2\theta$. By this process, we obtain a sequence

$$x_1 \ge x_1\theta > x_2 \ge x_2\theta > x_3 \ge x_3\theta > \cdots$$

Let (k_n) be a strictly increasing sequence of positive integers such that $k_1 > 1$ and let $l_i = k_1 + k_2 + \cdots + k_i$ for all $i \in \mathbb{N}$. Define the chain C_i for $i \in \mathbb{N}$ as follows:

$$C_{1} = \{x_{1}, x_{1}\theta, \cdots, x_{l_{1}}, x_{l_{1}}\theta\}$$

$$C_{2} = \{x_{l_{1}+1}, x_{l_{1}+1}\theta, \cdots, x_{l_{2}}, x_{l_{2}}\theta\}$$

$$C_{3} = \{x_{l_{2}+1}, x_{l_{2}+1}\theta, \cdots, x_{l_{3}}, x_{l_{3}}\theta\}$$

$$\vdots$$

Then each C_i is a finite chain of X, $C_i \cap C_j = \phi$ if $i \neq j$ and each C_i is of the form $y_1 \geq y_1\theta > y_2 \geq y_2\theta > \cdots > y_{k_i} \geq y_{k_i}\theta$. Therefore we have from Lemma 3.3 that $(S(X), \theta)$ is not eventually regular.

Now we are ready to give the first main result.

Theorem 3.5. Let S(X) be $P_{RE}(X)$, $T_{RE}(X)$ or $I_{RE}(X)$ and $\theta \in S(X)$. Then $(S(X), \theta)$ is eventually regular if and only if there exists a positive integer n such that every chain of X of the form

(1)
$$x_1 \ge x_1 \theta \ge x_2 \ge x_2 \theta \ge \dots \ge x_m \ge x_m \theta$$

with $x_i \in dom \ \theta$ has length at most n.

Proof. If there is an element $n \in \mathbb{N}$ such that every chain of X of the form (1) has length at most n, then by Corollary 3.2, $(S(X), \theta)$ is eventually regular.

It is clear that the chain (1) can be revised as follows : If there is an $i \in \mathbb{N}$ such that $x_i = x_i \theta = x_{i+1}$ in (1), then we can replace $x_i = x_i \theta = x_{i+1}$ by x_{i+1} and the revised chain is still of the form (1). Also, if there is an $i \in \mathbb{N}$ such that

 $x_i\theta = x_{i+1} = x_{i+1}\theta$ in (1), then this can be replaced by $x_i\theta$ and the revised chain is still of the form (1). Hence (1) can be considered as

(2)
$$x_1 \ge x_1 \theta \ge x_2 \ge x_2 \theta \ge \dots \ge x_m \ge x_m \theta$$

with $x_i \in \text{dom } \theta$ and any three consecutive terms not identical.

To prove necessity by contrapositive, assume that

(3) for every
$$n \in \mathbb{N}$$
, there is a chain of X of the form (2) of length greater than n .

In the remainder of the proof of all x_i and x_{ij} which we use always belong to dom θ . First suppose that

(4) X does not contain any chain of the form $x_1 \ge x_1\theta > x_2 \ge x_2\theta$.

Let $C^{(1)}$ be a chain of X of the form (2). If $C^{(1)}$ contains a chain $x_1 \ge x_1\theta \ge x_2 \ge x_2\theta$, then by (2) and (4), $x_1 > x_1\theta = x_2 > x_2\theta$. If $C^{(1)}$ contains a chain $x_1 \ge x_1\theta \ge x_2 \ge x_2\theta \ge \cdots \ge x_m \ge x_m\theta$ with $m \ge 3$, then by (2) and (4), $x_1 > x_1\theta = x_2 > x_2\theta = x_3 > x_3\theta$, and so $x_1 > x_1\theta > x_3 > x_3\theta$ which is contrary to (4). Hence $|C^{(1)}| \le 3$. This shows that every chain of X of the form (2) has length at most 3 which contradicts (3). Then X contains a chain

$$C_1 = \{x_{11}, x_{11}\theta, x_{12}, x_{12}\theta\}$$
 where $x_{11} \ge x_{11}\theta > x_{12} \ge x_{12}\theta$.

Next, consider the subposet $X \setminus C_1$ of X and suppose

(5)
$$X \smallsetminus C_1$$
 does not contain any chain of the form
 $x_1 \ge x_1 \theta > x_2 \ge x_2 \theta > x_3 \ge x_3 \theta.$

Let $C^{(2)}$ be a chain of $X \\ C_1$ the form (2). If $C^{(2)}$ contains $x_1 \\ \ge x_1\theta \\ \ge x_2 \\ x_2\theta \\ \ge x_3 \\ \ge x_3\theta \\ \ge x_4 \\ \ge x_4\theta$, then by (5), there are at least 2 of $x_1\theta \\ \ge x_2, x_2\theta \\ \ge x_3$ and $x_3\theta \\ \ge x_4$ must be equalities. If $x_1 \\ \ge x_1\theta \\ \ge x_2 \\ \ge x_2\theta \\ \ge \cdots \\ \ge x_m \\ \ge x_m\theta$ with $m \\ \ge 5$ is a chain in $C^{(2)}$, then $x_1\theta > x_3$ and $x_3\theta > x_5$ since any three consecutive terms of the chain cannot be identical, and hence $x_1 \\ \ge x_1\theta > x_3 \\ \ge x_3\theta > x_5 \\ \ge x_5\theta$ which contradicts (5). Thus $|C^{(2)}| \\ \le 6$. We therefore deduce that every chain of $X \\ \subset C_1$ of the form (2) has length at most 6. Consequently, every chain of X of the form (2) has length at most $|C_1| + 6$ which is contrary to (3). Thus $X \\ \subset C_1$ contains a chain

$$C_{2} = \{x_{21}, x_{21}\theta, x_{22}, x_{22}\theta, x_{23}, x_{23}\theta\}$$

where $x_{21} \ge x_{21}\theta > x_{22} \ge x_{22}\theta > x_{23} \ge x_{23}\theta.$

Thus $C_1 \cap C_2 = \emptyset$. For one more step, consider the subposet $X \setminus (C_1 \cup C_2)$. Suppose that

(6) $X \smallsetminus (C_1 \cup C_2)$ does not contain any chain of the form $x_1 \ge x_1\theta > x_2 \ge x_2\theta > x_3 \ge x_3\theta > x_4 \ge x_4\theta.$ Let $C^{(3)}$ be a chain of $X \setminus (C_1 \cup C_2)$ of the form (2). If $C^{(3)}$ contains a chain $x_1 \ge x_1\theta \ge x_2 \ge x_2\theta \ge x_3 \ge x_3\theta \ge x_4 \ge x_4\theta \ge x_5 \ge x_5\theta \ge x_6 \ge x_6\theta$, then by (6), there are at least 3 of $x_1\theta \ge x_2$, $x_2\theta \ge x_3$, $x_3\theta \ge x_4$, $x_4\theta \ge x_5$ and $x_5\theta \ge x_6$ must be equalities. If $x_1 \ge x_1\theta \ge x_2 \ge x_2\theta \ge \cdots \ge x_m \ge x_m\theta$ with $m \ge 7$, then $x_1\theta > x_3$, $x_3\theta > x_5$ and $x_5\theta > x_7$ since any three consecutive terms of the chain cannot be identical. This implies that $X \setminus (C_1 \cup C_2)$ contains a chain $x_1 \ge x_1\theta > x_3 \ge x_3\theta > x_5 \ge x_5\theta > x_7 \ge x_7\theta$ which contradicts (6). Hence $|C^{(3)}| \le 9$. Hence every chain of $X \setminus (C_1 \cup C_2)$ of the form (2) has length at most 9, and thus every chain of X of the form (2) has length at most $|C_1| + |C_2| + 9$. This is a contradiction because of (3), and therefore $X \setminus (C_1 \cup C_2)$ contains a chain

$$C_{3} = \{x_{31}, x_{31}\theta, x_{32}, x_{32}\theta, x_{33}, x_{33}\theta, x_{34}, x_{34}\theta\}$$

where $x_{31} \ge x_{31}\theta > x_{32} \ge x_{32}\theta > x_{33} \ge x_{33}\theta > x_{34} \ge x_{34}\theta.$

Then C_1 , C_2 and C_3 are pairwise disjoint. By this process, we obtain a sequence of pairwise disjoint finite chains C_1 , C_2 , C_3 , \cdots of X such that each C_i is the chain

$$x_{i1} \ge x_{i1}\theta > x_{i2} \ge x_{i2}\theta > \dots > x_{i,i+1} \ge x_{i,i+1}\theta.$$

We then deduce from Lemma 3.3 that $(S(X), \theta)$ is not eventually regular. Hence the theorem is completely proved.

It is easily seen that the following two statements on X are equivalent.

(i) There is a positive integer n such that every chain of the form $x_1 \ge x_2 \ge \cdots \ge x_m$ has length at most n.

(ii) There is a positive integer n such that $|C| \leq n$ for every chain C of X. Hence the following result given in [1] becomes our special case.

Corollary 3.6. Let S(X) be $P_{RE}(X)$, $T_{RE}(X)$ or $I_{RE}(X)$. Then S(X) is eventually regular if and only if there is a positive integer n such that $|C| \leq n$ for every chain C of X.

It was proved in [1] that every regressive almost identical transformation semigroup on X is always eventually regular. Our second main purpose is to show that this is also true for regressive almost identical generalized transformation semigroups. It then follows that the known result mentioned above is a consequence of our second main result.

Theorem 3.7. If S(X) is a regressive almost identical transformation semigroup on X, then $(S(X), \theta)$ is eventually regular for every $\theta \in S(X)$.

Proof. Let $\alpha \in S(X)$. Then $\alpha \theta \in S(X)$, so $S(\alpha \theta)$ is finite, say $|S(\alpha \theta)| = n$. Let $x \in dom(\alpha \theta)^{n+2}$. Then

$$x(\alpha\theta) \ge x(\alpha\theta)^2 \ge \dots \ge x(\alpha\theta)^{n+2}.$$

If $x(\alpha\theta) > x(\alpha\theta)^2 > \cdots > x(\alpha\theta)^{n+2}$, then $\{x(\alpha\theta), x(\alpha\theta)^2, \cdots, x(\alpha\theta)^{n+1}\} \subseteq S(\alpha\theta)$ and $|\{x(\alpha\theta), x(\alpha\theta)^2, \cdots, x(\alpha\theta)^{n+1}\}| = n+1$, a contradiction. Thus $x(\alpha\theta)^i = x(\alpha\theta)^{i+1}$ for some $i \in \{1, 2, \cdots, n+1\}$. Since $x \in \text{dom}(\alpha\theta)^{n+2}$, $x(\alpha\theta)^i \in \{1, 2, \cdots, n+1\}$.

dom $(\alpha\theta)^{n+2-i}$, so $x(\alpha\theta)^{n+2} = x(\alpha\theta)^{n+3}$. But x is arbitrary in dom $(\alpha\theta)^{n+2}$ and dom $(\alpha\theta)^{n+3} \subseteq \text{dom } (\alpha\theta)^{n+2}$, so we have $(\alpha\theta)^{n+2} = (\alpha\theta)^{n+3}$. Hence $(\alpha, \theta)^{n+3} = (\alpha\theta)^{n+2}\alpha = (\alpha\theta)^{n+3}\alpha = (\alpha, \theta)^{n+4}$, and thus $(\alpha, \theta)^{n+3} \in E(S(X), \theta)$. Therefore the proof is complete.

Corollary 3.8. If S(X) is a regressive almost identical transformation semigroup on X, then S(X) is eventually regular. In particular, $AP_{RE}(X)$, $AT_{RE}(X)$ and $AI_{RE}(X)$ are all eventually regular.

References

- Y. Kemprasit, Quasi-regular regressive transformation semigroups, SEA Bull. Math., 26(2003), 1-5.
- [2] T. Saitô, K. Aoki and K. Kajitori, Remarks on isomorphisms of regressive transformation semigroups, Semigroup Forum, 53(1996), 129-134.
- [3] A. Umar, On the semigroups of order-decreasing finite full transformations, Proc. Royal Soc. A., 120(1992), 129-142.
- [4] A. Umar, Semigroups of order-decreasing transformations: The isomorphism theorem, Semigroup Forum, 53(1996), 220-224.